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Express each absolute value function as a piecewise-defined function


3.  		4. 
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Graph each function.

s fn=l8 X2 12-x ifx<5
S ke if —2sx :

08

x
5 0 12
Solve.

7. An airport parking garage costs $20 per day for the first week. After that,
the cost decreases to $17 per day.

. Wite a piecewise function for the cost of
parking a car for x days.

b. What s the cost to park for 10 days?

. Ms. Anderson went on two trips. On the first, she
parked at the garage for 5 days; on the second,
she parked at the garage for 8 days. What was

the difference in the cost of parking between the
two trips?
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Match the piecewise function with its graph. Write the answer next to the problem number.
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Sketch the graph of each function.

1) f(x)

2x-1,x<2 4, xs<-2
x+4, x>2 2) f(¥)={x-2, -2<x<2
v “2r44,x22
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Use problems 5 & 6 to evaluate

a.g(3)
b.2(5)
«f(=3)
d1(2)
eg(7)




